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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by Gross Domestic Products ? 

Explain in detail the methods of measuring national 

income. 

ldy ?kjsyw mRikn ls vki D;k le>rs gSa \ jk‛Vªh; vk; 

dh x.kuk ds rjhdksa dh foLrkjiwoZd O;k[;k dhft,A 

2. Discuss the following : 

(a) Properties of Iso-quants 

(b) Law of demand 

(c) Consumer‟s surplus 

fuEufyf[kr ij ppkZ dhft, % 

¼v½ leksRifŸk oØ dh fo’ks‛krk,¡ 

¼c½ ek¡x dk fu;e 

¼l½ miHkksDrk dh cpr 

3. Explain elasticity of demand. What are the various 

methods of measuring elasticity of demand ? 

ek¡x dh yksp dh O;k[;k dhft,A ek¡x dh yksp dks ekius 

dh fofHkUu fof/k;k¡ dkSu&dkSulh gSa \ 

4. Define Interest. Explain the Keynes‟ Liquidity 

Preference Theory of Interest. How is it distinguished 

from classical theory ? 

C;kt dks ifjHkkf‛kr dhft,A dhUl ds C;kt dh rjyrk ds 

vf/keku ds fl)kUr dh O;k[;k dhft,A ;g ‘kkL=h; 

fl)kUr ls fdl izdkj ls fHkUUk gS \ 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains seven (07) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa lkr ¼07½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss the following : 

la{ksi esa fuEufyf[kr ij ppkZ dhft, % 

1. Characteristics of Oligopoly market. 

vYikf/kdkj cktk+j dh fo’ks‛krk,¡A 

2. Characteristics of perfect competition market. 

iw.kZ izfr;ksfxrk ckt+kj dh fo’ks‛krk,¡A 

3. Short-run price and output determination in a 

monopoly market. 

,dkf/kdkj ckt+kj esa vYidkyhu ewY; ,oa mRiknu fu/kkZj.kA 

4. Marginal productivity theory of distribution. 

forj.k dk lhekUr mRikndrk dk fl)karA 

5. Wages determination under imperfect competition. 

viw.kZ izfr;ksfxrk esa et+nwjh dk fu/kkZj.kA 

6. Ricardian theory of rent. 

fjdkMksZ dk yxku fl)kUrA 
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7. Derivation of IS curve. 

IS oØ dh O;qRifŸkA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following are True or False. 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR;A 

1. In an oligopoly market many firms exist in the 

industry. 

,d vYikf/kdkj cktkj esa ,d m|ksx ds vUrxZr dbZ 

daifu;k¡ ekStwn gksrh gSaA 

2. Goods produced on small scale have perfectly elastic 

supply. 

NksVs iSekus ij mRikfnr dh xbZ oLrqvksa dh iwfrZ iw.kZr% 

ykspnkj gksrh gSA 

3. Distinction between private sector and public sector is 

also determined on the basis of motive of existence. 

futh {ks= vkSj lkoZtfud {ks= ds e/; vUrj muds vfLRkRo 

ds mís’; ds vk/kkj ij Hkh fd;k tkrk gSA 
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4. The costs recorded in the book of accounts are 

considered as explicity cost. 

[kkrksa dh iqLrdksa esa ntZ dh xbZ ykxr Li‛V ykxr ds :i 

ls tkuh tkrh gSA 

5. When a firm‟s average revenue is equal to its average 

cost, it gets super profits. 

tc ,d QeZ dk vkSlr jkTkLo mlds vkSlr ykxr ds 

cjkcj gksrk gS rc ml QeZ dks vf/kykHk izkIr gksrk gSA 

Fill in the blanks. 

fjDr LFkkuksa dh iwfrZ dhft,A 

6. A movement along the demand curve is caused by 

............. of the goods only. 

fdlh ek¡x oØ dh pky xfr dk dkj.k dsoy oLrqvksa dh  
----------

 gksrh gSA 

7. In the case of inferior goods, the income elasticity of 

demand is ........... . 

fuEu@ghu oLrqvksa ds lUnHkZ esa] ek¡x dh vk; yksp 
----------

 

gksrh gSaA 

8. Market equilibrium occurs where demand and supply 

are ........... 

cktkj larqyu rc gksrk gS tc ek¡x vkSj vkiwfrZ 
---------

 gksrs gSaA 

9. The short run average cost curve is ........... shaped. 

vYikof/k vkSlr ykxr oØ 
--------------

 vkdkj dk gksrk gSA 

10. Demand is determined by ............... . 

ek¡x dk fu/kkZj.k 
---------------

 }kjk gksrk gSA 
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